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Basi c ski l l s  

The l engt h of  t he t hr uway i s  600 mi l es.   I f  0. 5 i nch r epr esent s 50 
mi l es,  what  i s  t he l engt h of  t he t hr uway on t he map? 
 
Di v i de 600 by 50 t o det er mi ne t he number  of  uni t s 600/ 50 = 12 
uni t s  t ake t he uni t s and mul t i pl y by t he scal e.  
 
12( 0. 5)  = 6 i nches 
 
Answer  = 6 i nches 

 
 
 
Basi c ski l l s  Pr act i ce 

The di mensi ons of  a bui l di ng ar e 250 f eet  by 120 f eet .   I f  1 i nch 
r epr esent s 20 f eet  on a scal e dr awi ng,  what  ar e t he di mensi ons of  
t he bui l di ng on t he dr awi ng? 
 
Bui l di ng 250 f eet  by 120 f eet  
 
250 f eet  = 12. 5 i nches 
 
120 f eet  = 6 i nches 
 
Answer  = 12. 5 ,  6 i nches 

 
 
 
 
 
 
 
 
 
 
 


